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B & % % & B H BmE®R
AT fAE M XBE 0157 = 1
IR (%) fREHMmMEXZEE 0157 b= 1
Rt DY fREHMEXEZEE 0157 = %
RIAITRL (D) fAE Mt XBE 0157 b= 1%
FLooTa—X fmE M XBE 0157 = 1
Rz/\> fREHMmMEXEBE 0157 = %
INADEA(Tg) fREHMEXZEE 0157 b= %
INEADHAE (8g) fAE Mt XBE 0157 b= 1%
ZAlzeL fREHMmMEXEBE 0157 = %
aAVINYURT—AY U (FIR) fREHMmMEXZEE 0157 = %
EDFBIT (40g) fAE M XBE 0157 b= 4
SIEKE fREHMmMEXBZEE 0157 b= 1
ZAYICAIZRL fE M RIZE 0157 = %
BHE fAE Mt XBE 0157 b= %
BH#&E (F) fmE M XBE 0157 = 1
HEHE fREHMmMEXBZEE 0157 = %
YINI—H1) v (6g) frEHmiERBE 0157 b= %
FaaFyT fAE Mt XBE 0157 b= 1%
FaaL—ky)—L g MM XZE 0157 = %
DEZAITRL(AYE) fREHMmMEXERE 0157 = %
HIAYTRE—K frE Mt KREEE 0157 = %
DIFET (ME) fREHMmMEXZEE 0157 b= 1
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EBHEENCOYL(TIILDD) fAE M XBE 0157 = 1
FLyi T UNR) FIRTI-FRE fREHMmMEXZEE 0157 b= 1%
EAITHF—X (L) fREHMEXEZEE 0157 =
HFULE fAE Mt XBE 0157 b= 1%
RLYZAIZ®L frEHMmEXRBE 0157 = %
N\3—(H1§)450¢g fREHMmMEXEBE 0157 = %
—OAXX frEHMEXBE 0157 = %
X fAE Mt XBE 0157 b= 1%
SYUDTF(IDE) g MM XZE 0157 = %
SYDT (EFHEIE) fREHMmMEXZEE 0157 =
SYDF (RT4v 7P BK) fAE M XBE 0157 b= %
SYMFEGEDTE) fREHMmMEXBZEE 0157 b= 1
SUNIF (DY) fREHmMEXZEE 0157 = 1
St (Fx) fAE Mt XBE 0157 b= %
MAF—X fmE M XBE 0157 = 1
BX REHMmMEXEBE 0157 = %
FLAD frEHMEXBE 0157 = %
SEHE fAE Mt XBE 0157 b= 1%
2AR—XAERLYI VT (GRER) g MM XZE 0157 = %
HMNAD Y L fREHMmMEXZEE 0157 =
SYPAROY L fAE M XBE 0157 = 1
A= )LiayF(12¢) fREHMmMEXZEE 0157 (e
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BMEIFD fAE M XBE 0157 = 1
HH<h fREHMmMEXZEE 0157 b= 1
HEH<H (k&) fREHMEXEZEE 0157 =
HH<H (K) fAE Mt XBE 0157 b= 1%
33— L (70g) frEHMmEXRBE 0157 b= %
3—J Lk (LK) 70¢g g M RZE 0157 = %
3—4 )Lk (a737)80¢ et m4EXEBE 0157 =
YAZTD21—R frEtm4EXEBE 0157 = 1
AEIIL—YE)—(FvTIL)60g g MM XZE 0157 (=R
ABIL—YE)—(EEYAI)80g MM KIZE 0157 = %
mEFRA(#1T) 40¢g fAE M XBE 0157 = 1
AEFRA(#31F) 50g fREHMmMEXBZEE 0157 b= 1
MEHL(HIE-D1L) fREHmMEXZEE 0157 b= %
HEEBIT(E2) fAE Mt XBE 0157 b= %
MREREIT (D) (BEXS) fmE M XBE 0157 = %
NEEBIT D BESHT fREHMmMEXBZEE 0157 = %
RMEIAFT—(HoUE) fREHMEXBZEE 0157 b= %
BEYAF—(hyb) fAE Mt XBE 0157 b= 1%
AEITHIT g MM XZE 0157 = %
AEITHIT (Fvk) frE MM KIZE 0157 = %
MEIEA fAE M XBE 0157 = 1
b g B30 fREHMmMEXZEE 0157 b= 1
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BELTLLY(TL—) frEHMEREZE 0157 b= %
MEZELOA fREHMmMEXZEE 0157 b= 1
mR¥I—Y fREHMmEXBE 0157 = %
mRERA fAE Mt XBE 0157 b= 1%
ARIEA (R F5gHv k) fmE M XBE 0157 = 1
ARBA (R F8ghvh) BEHMEXRBEE 0157 bz %
ARFIEN (R F10ghvh) frEHMEXBE 0157 = %
MEBRN(BEFbE8gh k) fAE Mt XBE 0157 b= 1%
MEBREEALE10ghvh) fREHMmMEKRBZEE 0157 = 1
AEBRE(BRAHE15ghvh) fREHMmMEXZEE 0157 =
ARIBN (RFHH40ghvh) frEHMmEXBE 0157 = %
AEBN (RELS5ghuk) fREHMmMEXBZEE 0157 b= 1
MEBRE(RGELLLIEA) fREHmMEXZEE 0157 b= %
AEIAYT RTH) fAE Mt XBE 0157 b= %
R (H1R) 30¢g fmE M XBE 0157 = 1
R (H1R)40¢g fREHMmMEXBZEE 0157 = %
ARSI (HiE-AY) frEHMEXBE 0157 = %
MESEND fAE Mt XBE 0157 b= 1%
AESE(HE- A fREHMmMEKRBZEE 0157 = 1
ARSIE (BE- YD) frE MM KIZE 0157 = %
mESHL (H1E) 30g fAE M XBE 0157 = 1
RE—T—FIV IR (LD -2 W) fREHMmMEXZEE 0157 b= 1
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mAELLeD frEHMmEXRBE 0157 b= 4
AELLeE (1) fREHMmMEXZEE 0157 b= 1
R 1—IA fREHMmEXBE 0157 = %
BEVINF—AR—a2 (hvyb) fAE Mt XBE 0157 b= 1%
MEBSRAT)YE— fmE M XBE 0157 = 1
MEITWEA fREHmMEXBZEE 0157 = %
BRI T—RA=FY frEHMEXBE 0157 = %
MEKRIREAL fAE Mt XBE 0157 b= 1%
AELBEE g MM XZE 0157 = %
REEZLEEH MM KIZE 0157 = %
MRS (HiE-FAY) fAE M XBE 0157 = 1
MRS (AY)- 94T fREHMmMEXBZEE 0157 b= 1
mEEF fREHmMEXZEE 0157 b= %
MEFXUFTUR fAE Mt XBE 0157 b= %
BEFENIN—Y (40g) frEHMmEXRBE 0157 = %
AREFFUR—IL g XZE 0157 = %
MREPEE frEHMEXBE 0157 = %
MEBYDHALL fAE Mt XBE 0157 b= 1%
MREE g MM XZE 0157 = %
AREE (K) frE MM KIZE 0157 = %
MEEIBAILETL fAE M XBE 0157 = 1
MEBOLIET fREHMmMEXBE 0157 b= 1
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AEEAMD(ELB0g) frEHMEREZE 0157 b= %
AEICACLAERZL fREHMmMEXZEE 0157 b= 1
mEEE fREHMEXEZEE 0157 = %
AERA(A—R)3mm frEtm4EXEBE 0157 = 1
AEBALL BEHMEXRBEE 0157 (=3
AEBREDE (Em) fREHmMEXBZEE 0157 = %
AEBEEDE (RA) fREHMEXZEE 0157 b= %
REIZARRTNDYDDIL) fAE Mt XBE 0157 b= 1%
AR (30g) g MM XZE 0157 = %
AR (40g) fREHMmMEXZEE 0157 =
AR (50g) frE M KREEE 0157 = %
AEAN—aY (hyk) fREHMmMEXBZEE 0157 b= 1
AEA—IY (HFK) fREHmMEXZEE 0157 b= %
AERILRINL (BYR) fAE Mt XBE 0157 b= %
MRIZ VAT — frEHMmEXRBE 0157 = %
REIVFHY REHMmMEXEBE 0157 = %
REOERE frEHMEXBE 0157 = %
R BERK fAE Mt XBE 0157 b= 1%




